RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving and Appropriating the FY 2009 Supplemental Budget for the Membership Services and the Hia-Ced O'odham Program in the amount of \$52,226.35)

RESOLUTION NO. <u>08-566</u>

1	WHEREAS,	at the direction of the Chairman and Vice Chairman of the Nation the Membership
2		Services and Hia-Ced O'odham Program has submitted a budget for supplemental
3		funding which will increase the overall FY-09 budget in operations; and
4	WHEREAS,	the Membership Services and Hia-Ced O'odham Program is a key program. The
5		${\bf Program has been without vehicle transportation since October 2007 and the program and the program $
6		has to borrow vehicles from other programs in the department or use personal
7		vehicles to take care of daily activities and to attend meetings on and off the Nation.
8		In addition we are in need of new computer equipment and desktop printers for the
9		${\bf program.}\ {\bf The\ equipment\ is\ obsolete\ and\ constantly\ in\ need\ of\ maintenance.\ The\ costantly\ in\ need\ of\ need\ $
10		for computers and printers is \$4,726.35; and
11	WHEREAS,	the Nations leaders have determined it necessary to provide added resources to the
12		Membership Services Department and Hia-Ced O'odham Program to improve the
13		overall department and delivery of service for our Nations members; and
14	WHEREAS,	the attached supplemental budget in the amount of \$52,226.35 was presented to and
15		$reviewed \ by the \ Domestic Affairs \ Committee \ and \ Budget \ \& \ Finance \ Committees \ of the \ Committee \ and \ Budget \ \& \ Finance \ Committee \ of the \ Committee \ of \ comm$
16		Tohono O'odham Legislative Council; and
17	WHEREAS,	the amount of \$52,226.35 will be integrated into the FY-09 Membership Services
18		Department and Hia-Ced O'odham Program base budget.
19	NOW, THE	REFORE, BE IT RESOLVED that Tohono O'odham Legislative Council hereby approves
20		the attached supplemental budget for FY-2009 in the amount of \$52,226.35 from the
21		FY 2009 General Revenue Surplus for the Membership Services Department and Hia-
22		Ced O'odham Program to be effective October 1, 2008.
23	BE IT FURT	HER RESOLVED that in accordance with the FY-09 the Membership Services and Hia-
24		Ced O'odham Program supplemental budget attached hereto in the amount of
25		\$52,226.35 from the FY 2008 General Revenue Surplus shall be for a one-time
26		appropriation to be expended within the FY 2009 fiscal year.
27	BE IT FINAL	LLY RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham
28		Nation Chairman, Vice-Chairman and any designated officials are authorized to
29		administer the attached budget, provided, however that any amendments affecting
	i .	

	RESOLUTION NO. <u>08-566</u> (Approving and Appropriating the FY 200 Hia-Ced O'odham Program in the amour Page 2 of 3	9 Supplemental Budget for the Membership Services and the nt of \$52,226.35)
1	these funds or funding leve	els that are budgeted shall be submitted for prior approva
2	by the Tohono O'odham Le	gislative Council.
3 4 5 6 7 8 9	of <u>SEPTEMBER</u> , <u>2008</u> at a meeting at wh AGAINST; <u>-0-NOT VOTING</u> ; and <u>[07]</u> ABSE 1 (<u>d)(2)</u> of Article VI of the Constitution O'Odham Nation on January 18, 1986;	y the Tohono O'odham Legislative Council on the <u>23RD.</u> Day lich a quorum was present with a vote of <u>2,159.0</u> FOR; <u>375.5</u> NT, pursuant to the powers vested in the Council by Section n of the Tohono O'Odham Nation, adopted by the Tohono and approved by the Acting Deputy Assistant Secretary , 1986, pursuant to Section 16 of the Act of June 18, 1934 (48
10		TOHONO O'ODHAM LEGISLATIVE COUNCIL
11 12 13		Verlon M. Jose, Legislative Chairman b day of October, 2008
14		Verlon M. Jose, Législative Chairman
15		6 - 0 1.1
16	1	<u>V</u> day of <u>VC + 3 ber</u> , 2008
17	ATTEST:	
18		
19	Uni Sal.	
20	Sum sayy	
21	Lucille Lopez, Acting Legislative Secre	lary
22	3 day of Sytum, 200	
23		18.
24		
25	Said Resolution was submitted for app	roval to the office of the Chairman of the Tohono O'Odhan
26		
27	-	of Article VII of the Constitution and will become effective
28	1	re to either approve or disapprove it within 48 hours of
	submittal.	TOMONO CIODITAM I POICE ATTUE COLINOTI
30		TOHONO O'ODHAM LEGISLATIVE COUNCIL
31 32		
33		1/ / Ilm
34		Verlon M. Jose, Legislative Chairman
35		verion w. jose, negislative chairman
36		
37		A
38	I XI APPROVED 0	n the <u>M</u> day of <u>Octobe</u> , 2008
39	H '	_
40	DISAPPROVED a	t <u>/ '45</u> o'clock, <u> </u>
41	I 1 DIGIT I KOATO	1 County II was
42		$\lambda \wedge \lambda \wedge \lambda$
43		1) LL 1/W1
44	N	ED NORRIS, JR., CHAIRMAN
45	II .	OHONO O'ODHAM NATION
46		··

Returned to	the Legisl	ative Secre	tary on	the 17	day of		
Varn	<u></u> ,	2008, at _	2.43	o'clock, _	<u>Р</u> .М.		
					ī		
<i>Sum</i> Lucille Lope	a Acting	ogiolativo:	Coorotar				
racme robe	z, acing L	egisiative	Seci etai	y			

ACTION: APPROVING AND APPROPRIATING THE FY 2009 SUPPLEMENTAL BUDGET FOR THE MEMBERSHIP

SERVICES AND THE HIA-CED O'ODHAM PROGRAM IN THE AMOUNT OF \$52,226.35

MOVED: COUNCILWOMAN EVELYN JUAN MANUEL SECOND: COUNCILWOMAN OLIVIA VILLEGAS-LISTON

DATE: SEPTEMBER 23, 2008

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 316.9	FRANCES MIGUEL (Roberta Harvey)	158.45	X			
	2. FRANCES G. ANTONE (Vernon Smith)	158.45	X			
CHUKUT KUK 264.8	1. ETHEL GARCIA	132.40	x		ı	
204.8	2. VERLON M. JOSE	132.40	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	х			
227.9	2. CYNTHIA E. MANUEL ()	113.95	x			X
GU VO	1. GRACE MANUEL	99.60	x			
199.2	2. RAYMOND VICTOR	99.60	Х			Х
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			Х
172.0	2. SANDRA ORTEGA	86.00	х			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	91.20	x			
182.4	2. GERALD FAYUANT	91.20	X			
SAN LUCY	1. LORRAINE EILER	90.55		X		Х
181.1	2. GLORIA RAMIREZ ()	90.55		X	,	
SAN XAVIER	1. FELICIA NUÑEZ (Adam P. Andrews)	98.25	x			Х
196.5	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	X			
SCHUK TOAK	1. FRANCES B. CONDE (Frederick Jose)	77.30	X		_	
154.6	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	Х			X
SELLS	1.KIMBERLY LISTO	222.35	X			
444.7	2.EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20		X		**
194.4	2. MARY LOPEZ	97.20		x		X
	TOTAL	2,534.5	2,159.0	375.5	-0-	[07]